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Define the bullet and the block as a closed, isolated system.

Vo =
My
Because the block is initially at rest, this becomes
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a. Define the marbles as a closed. isolated system.

Before: mq-=35.0g
mp =100 g
Vi = 20.0 cm/s
vpi = 10.0 cm/s
After: mg = 5.0 g
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Thus, the ratios of the velocities are

Vie [ mp ) (90.0kg
Vor myg 60.0 kg




A8 JMs Lo peus 3 F a3 355 o) sa 2340
AL Glamc aes- 3 st deena ATE da;

i g i pd) oy 65 J) 4 30
ol ey § ekl 5 105 18 G s
ale b o de pous k] o 115 0

old iyl o 3,2 3 ki 343 31 3] o B0

it 3 81 &S > old) § choy by £ olle oy 81
sgall JU 8 gy aabaal) )l 8 fall el ellsy

Jobl By adusdl oo a0 YRR Y i 82
8 s s 1)

ol § ol o ;L1 liaall 51, hbsy Loie .83
chd e Joy s i) Jy i) Sl
sl old) § 1)

s ly Jasldly 3,50 8 0953 pllas)) s .84
pakazll s g aw e, ¥y dald] oS
gl 13) Fgpae Ll o é pumlid) o el .85
FTES | I P SECPRR L S PR I CE I | ) L
ao Lol dgas 3% ol w0 ¥ 1A L psliadll aay a5 el
S &Sl

orink) Clally sl JI ol puel Wl JS 3 .86

p5 ol 130 L gime ps 3l gaS ¥gsae Lillas g
Lot 3 Lgluns (9% paliadl) any dualia Jly clall
as Ll gy dblall dala U asladl LE

il ) g5 pS ol e 1 L psLas
o3 adblal) iole ) we o)l

e Yo Aljual) HISAH) alasawly adu)) aggas 50 78
il J) =¥ slay

Lalsa gor abs ged ) Ways oSl pus a5 13) 79

el Jolie &eatt
_ 2
} o A =] a8 0o n
—2
{S}g..j."
22 =szan
L A

oS! Baiie 53 e LaBs Lo pees et of o5 s 80
Tl $8,045 593 e apaaSy gill aball e

sty Joamnl) dlls B Lidle a8 13 Zdals 3,5 .81
L el gole Lpdanah BF sgads Las @lgss 5,50
AR R T IS . [PPSO PP B P P ACEY
5,500 35, aled) B olay e ol L Ilaa) wie Lo
Spal Falaish

Hews oasks e O g LalsS dsle caallasl B2
CAAEL e dbiles = lala; callsl Lew 323 mis
Tors e um jlane B C0Mas Y p,n) 396 MSS de s
aouis 5g3)) Jlang) s st gials ) 5 L jins il 0
Baagie Il il jlall s

@il sl plami) solinal) gy cload adly oIS L 83
AR B IFY | WY N | EPNEVEC I | W1 E=0N [ SUENN | PRl S
- ol aka aasal i) ) ey e slpsdl )
i el ais dldels £ ) Loy g3l

oefany cdmile e el 5,5 435 Leane aasd] 5,5 .84
ey a3l daas ggld slass il dleal) sis £t pas)
il ls) B Lidadasd Liw) Jacls aliacd)

agtals @b le guablae glsas pliusli cualaasl 85
Lis pluslid) copsally il guanslid) gas] calSs
ala¥¥) de ol Jlams cawmn s _H_‘.i Lo lang de poun (55 oy
J5 Wgam ge amanid ol oS i) Lo a5 i) Ll
s L oy

ole LS 3 pligluss pbabs ) calb] gebe ) .86
Lic s clS 1508 colils dein )l e dcgings dects o llgh
(o de giems Cppbiesbles I g ] c2alSy sopisgliatie CpuSeales
ddalaa) doblo ) oyl pssasl ¥ o ga ¥y el
TUPRTEN | S PR, | [ TIPS ENCCIN VS JINCY | Y
ol Tl el CIRI i il g



10.0 kg Lizl:S ad s a,e 50.0 kg Lks 30w 55 .92
iosis (o Biwaa) i3ad 1318 5.0 M/S ie s (6,5 o) oy
adl alsal B 7.0 M/S ic yun 2,31 ciliags il

me

o —y i o s
—ig ~——

b. Slilis] jeme ey adny jaall |3 pagll o)) .8
(Mg + mec)v; = myvy, + meve ' L"""”
so.v (mw +mc)vi = My Vs Bl Lpis 23l G s & jall dgaiall de pid) asl b

s Vg -

2 (50.0 kg +10.0 kg)(5.0 m/s) —(50.0 kg )(7.0 m/s)

10.0 kg

=-5.0 m/s, or 5.0 m/s west

032 m glisyl J)60.0 kg wlss ey ;23 .93
Suas¥) ) dymy e ausj Le.a
fuadl ) Galad o300 g0l L b

Beiashe oliS) s s ¥ e ce M dags Loace €
Gaal) o ugia as5l 0050 5 ) Cadgl) fe Allla) )
el s B 855

9y ablia) 893 o oyl d

v,l,,,2 =v.? +2aAx, where a is —9.8 N/kg and Vigp =0 m/s.

Vi

b. FAt = mAv = m(v

= J-Zan

To stop the dancer, v

stop

stop v

= 0. Thus,

FAt=—mvi=-p = -1.5x10° kg * m/s upward

C.

FAt = mAv = my2aAx

F

_ my2aAx _ (80.0 kg),/(2)(9.8 N/kg)(0.32 m)

=30x10°N

At

0.050s

d. F,=m_= (60.0 kg)(9.8 N/kg) = 5.88x10° N

The force is about five times the weight.
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